
Sky Tutorial / Sch. Ent. Test  Paper / XII to Target – Moving Students (MATHEMATICS GROUP)/ Pg. No. 1 

Sky Tutorials : Kabir Nagar Durgakund, Varanasi – 7510020006, 9696571381 

 
 

 
 

 
 
 

 
 
 

 
    

 
 
 

 INSTRUCTION: ¼ funsZ”k½ 
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 Duration of test is 120 Minute and Question Paper contains 75 Questions. The Maximum Marks are 300. 
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 Before attempting the question paper ensure that it contains all the pages and no question is missing. Read 

each question carefully. 

 iz”u i= gy djus ls igys fo|kFkhZ vk”oLr gks tk,a fd blesa lHkh ist layXu gSa rFkk dksbZ iz”u NwVk u gksA izR;sd 

iz”u /;kuiwoZd i<+sA 
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PHYSICS 
 

1. Six charge +Q each are placed at the 

corners of a regular hexagon of side a, the 
electric field at the centre of hexagon is. 

(a) Zero  (b) 
2

1 6
.

4o

Q

a
 

(c) 
2

1
.

4o

Q

a
 (d) 

1 6
.

4 2o

Q

a
 

 

2. Three charges q c 1 1 , q c 2 2 and 

q c  3 3 and four surface S S S1 2 3, , and 

S4 are shown. The flux emerging through 

surface S2 in N m C 2 / is 

 
 

 

 

 
 

 

 

 

(a)  336 10   (b)   336 10  

(c)  936 10   (d)   936 10  
 

3. The ratio of the electric field due to an electric 
dipole on its axis and on the perpendicular 
bisector of the dipole is- 
(a) 1 : 2  (b) 2 : 1   
(c) 1 : 4  (d) 4 : 1 
 

4.  55 10 lines  of electric flux are entering in a 

closed surface and  54 10 liner come out of the 
surface the charge enclosed by the surface is 

(a) C 600.885 10  (b) C 68.85 10  

(c) C  78.85 10  (d) C 88.85 10  

 
5. The capacitance of a metallic sphere will be 

F1 , if its radius is nearly. 

(a) 9 km  (b) 10 m  

(c) 1.11 m  (d) 1.11 cm 

 
6. The energy of a charged conductor is given by 

the expression 

(a) 
q

C

2

2
  (b) 

q

C

2

  

(c) 2qc  (d) 
q

C

2

22
  

 
 

Hkk Sfrd foKku 

 

1. Hkqtk a okys ,d ‘kVdks.k ds lHkh dksuksa ij +Q  

vkos‛k j[kk gqvk gS] rks ‘kVdks.k ds dsUnz ij 

fo|qr {ks= gksxk& 

(a) Zero  (b) 
2
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(c) 
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2. rhu vkos‛k q c 1 1 , q c 2 2  vkSj q c  3 3  

vkSj pkj lrg S S S1 2 3, , vkSj S4 fp= esa iznf‛kZr 

gS rks S2 lrg }kjk fuxZr ¶yDl dk eku 

N m C 2 /  esa gSA 

 

 

 

 

 
 

 

 

(a)  336 10   (b)   336 10  

(c)  936 10   (d)   936 10  
 

3. fdlh fo|qr f}/kzqo ds v{k ij fo|qr {ks= rFkk 

f}/kqzo ds fuj{k ij fo|qr {ks= dk vuqikr& 

(a) 1 : 2  (b) 2 : 1   

(c) 1 : 4  (d) 4 : 1 

 

4.  55 10 eku dk fo|qr QyDl ,d cUn lrg esa 

izos‛k djrk gS rFkk  54 10 eku dk fo|qr QyDl 

fudyrk gS rks lrg esas cUn vkos‛k gS 

(a) C 600.885 10  (b) C 68.85 10  

(c) C  78.85 10  (d) C 88.85 10  
 

5. ,d /kkrq xksyk ftldh /kkfjrk F1 gS fd f=T;k 

dk yxHkx eku gksxk& 

(a) 9 km  (b) 10 m  

(c) 1.11 m  (d) 1.11 cm 

 

6. ,d vkosf‛kr pkyd dh ÅtkZ dk lw= gS& 

(a) 
q

C

2

2
  (b) 

q

C

2

  

(c) 2qc  (d) 
q

C

2
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7. Three equal capacitors, each with capacitance 
C are connected as shown in figure. Then the 
equivalent capacitance between A and B is 

 
(a) C  (b) 3C  
(c) C/3  (d) 3C/2 
 

8. Net resitance between X and Y is 

 
(a) R (b) 2R (c) R/2 (d) 4R 

 
9. A certain piece of copper is to be shared into a 

conductor of minium resistance. Its length and 
diameter should  be respectively  

(a) d,   (b) d2 ,   

(c) d/2, 2   (d) d2 , /2  

 

10. Five dry cell each of e.m.f 1.5V are connected 

in parallel. The e.m.f of the combination is  

(a) 7.5 V  (b) 0.3 V    (c) 3V      (d)1.5 V 

 
11. If the current in a electric bulb drops by 2% 

then the power decreases by – 
(a) 1% (b) 2% (c) 4% (d) 16% 
 

12. A current carrying loop is placed in a uniform 

magnetic field. The torque acting on it does not 

depend upon -  

 (a) area of loop    (b) shape of loop   

 (c) value of current   (d) magnetic field 

 

13. Magnetic potential at a point distant d 

from a magnetic pole of strength m is 

(a) o m

d



4
  (b) o m

d



 24
  

(c) o m

d





2

4
  (d) None of these 

 

14. A short bar magnet place with its axis at 
30o with a uniform external magnetic field 

of 0.25 T experiences a torque of 
 24.5 10 N-m Magnetic moment of the 

magnet is 

(a) JT10.36   (b) JT10.72  

(c) JT10.18  (d) Zero 

 
 

7. rhu leku la/kkfj=] izR;sd dh /kkfjrk (C) gS 

fp=kuqlkj tqM+s gq, gSa rks (A) o (B) ds e/; rqY; 

/kkfjrk gSA 

 
(a) C  (b) 3C  
(c) C/3  (d) 3C/2 
 

8. X o Y ds e/; rqY; izfrjks/k 

 

(a) R (b) 2R (c) R/2 (d) 4R 

 
9. ,d fuf'pr rkcsa ds VqdMs dk izfrjks/k de ls de gS 

rks mldh yEckbZ rFkk O;kl Øe'k% gS & 

(a) d,   (b) d2 ,   

(c) d/2, 2   (d) d2 , /2  

 

10. ikap ‚kq’d lsy izR;sd dk fo- ok- cy 1.5V  gS ,d 

nwljs ls lekUrj Øe esa tqM+s jgrs gS rks iwjs la;kstu 

dk fo- ok- cy gS & 

(a) 7.5 V  (b) 0.3 V     (c) 3V (d)1.5 V 
 

11. ;fn ,d cy esa /kkjk 2% de dj nh tk;s rks 

cYc dh ‚kfDr fdrus izfr‛kr ?kVsxhA 

(a) 1% (b) 2% (c) 4% (d) 16% 
 

12. ,d /kkjkokgh ywi] ,dleku pqEcdh; {ks= esa 

fLFkr gSA bl ij dk;Zjr cy vk?kw.kZ fuHkZj ugh 

djrk gSA 

(a) ywi ds {ks=Qy ij (b) ywi ds vkdf̀r ij 

(c) /kkjk ds eku ij (d) pqEcdh; {ks= ij 

13. m izcyrk okys pqEcdh; /kqzo ls nwjh ij fLFkr 

fcUnq ij pqEcdh; foHko gSA 

(a) o m

d



4
  (b) o m

d



 24
  

(c) o m

d





2

4
  (d) buesa ls dksbZ ugha  

 
14. ,d NksVh n.M pqEcd dh v{k dks ,d 0.25 

Vslyk ds ,d leku ckgkz pqEcdh; {ks= ds lkFk 

30° dk dks.k cukrs gq, j[kk tkrk gSA ftlesa ;g  

4.5 × 10–2 U;wVu eh. dk cy vk?kw.kZ vuqHko 

djrh gSA pqEcd dk pqEcdh; vk?kw.kZ gS & 

(a) JT10.36  (b) JT10.72  

(c) JT10.18  (d) ‚kwU;   
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15. The magnetic induction B


and the 

magnetic force F


 on a pole m are related 

by 

(a) 
 

B mF   (b) 





B

F
m

 

(c) 
 

F m B   (d) None of these 
 

16. A flux of 1 miliWb passes through a strip 

having an area A = 0.02 m2. The plane of 

the strip is at an angle of 60o to the 
direction of uniform magnetic field B. The 

value of B is 

(a) 0.1 T   

(b) 0.058 T  
(c) 4.0 mT   

(d) None of the above  
 

17. The instantaneous flux associated with a 

closed circuit of 10 resistance is given by 

the following equation t t   26 5 1 , then 

the value in amperes of the induced 

current at t = 0.25 sec will be. 

(a) 1.2  (b) 0.8  (c) 6 (d) 0.2  

 
18. Lenz's law is consistent with law of 

conservation of - 

(a) current   (b) emf   

(c) energy  (d) all of the above 

 
19. Consider the situation shown in fig. If the 

current I in the long straight wire XY is 

increased at a steady rate then the induced 

emf's in loops A and B will be- 

 
 (a) clockwise in A, anticlockwise in B.  

 (b) anticlockwise in A, clockwise in B 

 (c) clockwise in both A and B   
 (d) anticlockwise in both A and B 
 

20. A conducting wheel in which there are 
four rods of length is rotating with 

angular velocity  in a uniform magnetic 

field B. The induced potential difference 

between its centre and rim will be. 

(a) 0  (b) B 2   

(c) B 2   (d) 
B 2

2
 

15. pqEcdh; izsj.k B


 o /kqzo m ij pqEcdh; cy F


 
ds lEcU/k gS 

(a) 
 

B mF   (b) 





B

F
m

 

(c) 
 

F m B             (d) buesa ls dksbZ ugha  

 

 
16. 1 feyhoscj dk ¶yDl A = 0.02 m2 {ks=Qy okyh 

ifV~dk ls xqtjrk gSA ifV~dk dk ry ,dleku 

pqEcdh; {ks= B ls 60o dk dks.k cukrk gS] B dk 

eku gksxkA 

(a) 0.1 T   

(b) 0.058 T  

(c) 4.0 mT   
(d) mijksDr esa ls dkbZ ugha 

 

17. 10  izfrjks/k okys cUn ifjiFk ls lEcU/k 

pqEcdh; ¶yDl dk rkR{kf.kd eku fuEu lEcU/k 

ls O;Dr fd;k tkrk gS t t   26 5 1 rks                       

t = 0.25 sec ij ifjiFk esa izsfjr /kkjk dk eku 

,Eih;j esa gksxk& 

(a) 1.2  (b) 0.8  (c) 6 (d) 0.2  

 

18. ysUt dk fu;e fdl fu;e ds laj{k.k ds rqY; 

gSA 

(a) /kkjk  (b) fo- ok- cy  

(c) ÅtkZ  (d) mijksDr lHkh  

 

19. fp= esa] ;fn yEcs lh/ks rkj XY esa /kkjk I leku 

nj ls c<+k;h tk, rks ywi A rFkk B esa izsfjr                  

fo- ok- cy gksxk& 

 
(a) A esa nf{k.kkorZ] B esa okekorZ   

(b) A esa okekorZ] B esa nf{k.korZ 

(c) A o B nksuksa esa nf{k.kkorZ   

(d) A o B nksuksa esa okekorZ 
 

20. ,d pkyd ifg;k ftlesa  yEckbZ ds pkj rkj 

gSa] leku pqEcdh; {ks= B esa   dks.kh; osx ls 

?kwek jgk gks rks dsUnz rFkk ifjf/k ds chp izsfjr 

foHkkokUrj gksxk& 

(a) 0  (b) B 2   

(c) B 2   (d) 
B 2

2
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21. Two coils of self inductance L1 and L2 are 

tightly wrapped one over the other. The 

maximum mutual inductance of the 
combination will be. 

(a) L L1 2   (b) L L1 2   

(c) L L1 2   (d) 
L L

L L
1 2

1 2

 

 

22. If instantaneous value of current is 

I t A 10sin(314 )  

Then the average current for the half cycle 

will be 

(a) 10 A  (b) 7.07 A  
(c) 6.37 A  (d) 3.53 A 
 

23. Which of the following figure is correct 

phase diagram for an R–C circuit-  
 

 

(a)   (b)  

 
 

 

(c)    (d)  
 
 
 

24. In an A.C. circuit L CX X   300 , 200 and 

R  100 the impedance Z of circuit is. 

(a) 600                (b) 200   

(c) 141                (d) None of the above 

 

25. If two bulbs each of 220V, 30 watt are 

connected in series, then we get electric 
power as – 

(a) 60 Watt  (b) 15 Watt   

(c) 6 Watt  (d) 30 Watt 

 

CHEMISTRY 
 

26. What is the molarity of a solution 

containing 10 g of NaOH in 500 mL of 

solution? 
(a) 0.25 mol L-1 (b) 0.75 mol L-1 

(c) 0.5 mol L-1 (d) 1.25 mol L-1 

 

27. 10% solution of urea is isotonic with 6% 
solution of a non-volatile solute X. What is 

the molecular mass of solute X? 

(a) 16g mol   (b) 160g mol  

(c) 136g mol  (d) 132g mol  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

21. L1 o L2 izsjdRo okyh nks dq.Mfy;k¡ ijLij ,d 

nwljs ds Åij etcwrh ls yisVh tkrh gSA la;qDr 

dqa.Myh dk vf/kdre vU;ksU; izsjdRo gksxk& 

(a) L L1 2   (b) L L1 2   

(c) L L1 2   (d) 
L L

L L
1 2

1 2

 

 

22. /kkjk dk rkR{kf.kd eku ;fn fuEu gks 

I t A 10sin(314 )  

Rks v)ZpØ ds fy;s /kkjk dk vkSlr eku gksxkA 

(a) 10 A  (b) 7.07 A  

(c) 6.37 A  (d) 3.53 A 
 

23. fuEukafdr dykUrj crkus okys fp=ksa esa ls dkSulk 

fp= R–C ifjiFk dks lgh izdkj ls n‛kkZrk gS& 

 

(a)   (b)  

 

 
 

(c)   (d)  

 

 
 

24. ;fn izR;korhZ ifjiFk esa L CX X   300 , 200  

o R  100  gks rks ifjiFk dh dqy izfrck/kk                      

Z dk eku gksxk& 

(a) 600              (b) 200   

(c) 141              (d) mi;qZDr esa ls dkbZ ugha 
 

25. 30 Watt dk cYc tks 220 oksYV ij dke djrk gS 

vxj ,sls nks cYc Js.khØe esa yxk nsa rks fdruh 

fo|qr ‚kfDr izkIr gksxhA 

(a) 60 Watt  (b) 15 Watt   

(c) 6 Watt  (d) 30 Watt 
 

jlk;u foKku 
 

26. 500 mL ?kksy esa 10 xzke NaOH okys ?kksy dh 

eksyjrk D;k gS\ 

(a) 0.25 mol L-1 (b) 0.75 mol L-1 

(c) 0.5 mol L-1 (d) 1.25 mol L-1 

 

27. ;wfj;k dk 10% foy;u] vok’Ik‛khy foys; X ds 

6% foy;u ds lkFk leijkljh (Isotonic) gksrk 

gSA foys; X dk vkf.od nzO;eku D;k gS\ 

(a) 16g mol   (b) 160g mol  

(c) 136g mol  (d) 132g mol  
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

I 

I 

I 

I 

I 

I 
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28. 4 L of 0.02 M aqueous solution of NaCl 

was diluted by adding one litre of water. 

The molality of the resultant solution 
is_____ 

(a) 0.004   (b) 0.008  

(c) 0.012  (d) 0.016 
 

29. Following reaction are taking place in a 

Galvanic cell 

Zn Zn e Ag e Ag2 2 ;       

(a) s aq aq sZn Zn Ag Ag2
( ) ( ) ( ) ( )| || |   

(b) Zn Zn Ag Ag2 | || |   

(c) aq s s aqZn Zn Ag Ag2
( ) ( ) ( ) ( )| || |   

(d) s aq aq sZn Ag Zn Ag2
( ) ( ) ( ) ( )| || |   

 

30. The Gibb’s energy for the decomposition 

of Al O2 3 at oC500 is as follows: 

rAl O Al O G2 3 22 /3 4/3 ; 966     kJ/mol 

The potential difference needed for 

electrolytic reduction of Al O2 3 at oC500 is 

at least  

(a) 5.0 V  (b) 4.5 V  

(c) 3.0 V  (d) 2.5 V  

 
31. The electric charge of 5 Faradays is passed 

through three electrolytes AgNO3, CuSO4 

and FeCl3 solution. The grams of each 

metal liberated at cathode will be. 

(a) Ag = 10.8 g, Cu = 12.7 g, Fe = 1.11 g  
(b) Ag = 540 g, Cu = 367.5 g, Fe = 325 g 

(c) Ag = 108 g, Cu = 63.5 g, Fe = 56 g 

(d) Ag = 540 g, Cu = 158.8 g, Fe = 93.3 g 
 

32. In a reaction HI H I2 22   , the 

concentration of HI decrease from 

molL 10.5  to 0.4 mol L-1 in 10 minutes. What 

is the rate of reaction during this interval? 

(a) M3 15 10 min        (b) M3 12.5 10 min   

(c) M2 15 10 min        (d) M2 12.5 10 min   

 
33. Which of the following is an example of a 

fractional order reaction? 

(a) NH NO N H O4 2 2 22   

(b) NO O NO O3 2 2    

(c) NO Br NOBr22 2   

(d) CH CHO CH CO3 4   

 

 
 

28. NaCl ds 0.02 M tyh; ?kksy esa ls 4 L dks ,d 

yhVj ikuh feykdj iryk fd;k x;kA ifj.kkeh 

?kksy dh eksyyrk _____ gS 

(a) 0.004   (b) 0.008  

(c) 0.012  (d) 0.016 

 

29. xSYosfud lsy esa fuEufyf[kr vfHkfØ;k gks jgh gS 

Zn Zn e Ag e Ag2 2 ;       

(a) s aq aq sZn Zn Ag Ag2
( ) ( ) ( ) ( )| || |   

(b) Zn Zn Ag Ag2 | || |   

(c) aq s s aqZn Zn Ag Ag2
( ) ( ) ( ) ( )| || |   

(d) s aq aq sZn Ag Zn Ag2
( ) ( ) ( ) ( )| || |   

 

30. Al O2 3 ds 
oC500 vi?kVu ds fy, fxc dh ÅtkZ 

bl çdkj gS% 

rAl O Al O G2 3 22 /3 4/3 ; 966     kJ/mol 

Al O2 3 bysDVªksykbfVd deh ds fy, 

oC500 vko';d laHkkfor varj de ls de gS 

(a) 5.0 V  (b) 4.5 V  

(c) 3.0 V  (d) 2.5 V  

 
31. 5 QSjkMs dk fo|qr vkos'k rhu bysDVªksykbV~l 

AgNO3, CuSO4 vkSj FeCl3 foy;u ls xqtkjk 

tkrk gSA dSFkksM ij eqä gksus okyh çR;sd /kkrq 

dk xzke gksxkA 

(a) Ag = 10.8 g, Cu = 12.7 g, Fe = 1.11 g  

(b) Ag = 540 g, Cu = 367.5 g, Fe = 325 g 
(c) Ag = 108 g, Cu = 63.5 g, Fe = 56 g 

(d) Ag = 540 g, Cu = 158.8 g, Fe = 93.3 g 

 

32. HI H I2 22   ,d çfrfØ;k esa] HI dh lkaærk 

molL 10.5   10 feuV esa ?kVdj 0.4 eksy
1L
gks 

tkrh gSA bl varjky ds nkSjku çfrfØ;k dh nj 

D;k gS\ 

(a) M3 15 10 min        (b) M3 12.5 10 min   

(c) M2 15 10 min        (d) M2 12.5 10 min   

 

33. fuEufyf[kr esa ls dkSu lk fHkUukRed Øe 

çfrfØ;k dk mnkgj.k gS\ 

(a) NH NO N H O4 2 2 22   

(b) NO O NO O3 2 2    

(c) NO Br NOBr22 2   

(d) CH CHO CH CO3 4   
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34. Half – life period of a first order reaction is 

10 min. What percentage of the reaction 

will be completed in 100 min? 
(a) 25%  (b) 50%  

(c) 99.9%  (d) 75% 

 

35. Which of the following transition metal 

ions has highest magnetic moment? 

(a) Cu2   (b) Ni2   

(c) Co2   (d) Fe2  
 

36. Which of the following primary and 

secondary valencies are not correctly 

marked against the compound? 

(a) Cr NH Cl p s3 6 3[ ( ) ] , 3, 6   

(b) K PtCl p s2 4[ ], 2, 4   

(c) Pt NH Cl p s3 2 2[ ( ) ], 2, 4   

(d) Cu NH SO p s3 4 4[ ( ) ] , 4, 4   

 
37. Which of the following is not a neutral 

ligand? 

(a) H O2  (b) NH3  (c) ONO  (d) CO 

 

38. The hybridisation involved in 

[Co(C2O4)3]
3 is 

(a) 3 2sp d   (b) 3 3sp d  

(c) 3dsp   (d) 2 3d sp  
 

39. Which of the following reactions follows 

Markovnikov’s rule? 

(a) C2H4 + HBr (b) C3H6+Cl2 
(c) C3H6 + HBr (d) C3H6 + Br2 

 

40. An alkyl halide, RX reacts with KCN to 

give propane nitrile. RX is 
(a) C3H7Br  (b) C4H9Br  

(c) C2H5Br  (d) C5H11Br 
 

41. The ease of dehydrohalogenation of alkyl 

halide with alcoholic KOH is 

(a) o o o3 2 1   (b) o o o3 2 1   

(c) o o o3 2 1   (d) o o o3 2 1   
 

42. A compound X with the molecular 

formula C3H8O can be oxidized to another 

compound Y whose molecular formula is 
C3H6O2. The compound X may be. 

(a) CH3CH2OCH3  

(b) CH3CH2CHO 

(c) CH3CH2CH2OH 
(d) CH3CHOHCH3 

 

34. çFke dksfV dh çfrfØ;k dk v/kZ&thou dky 10 

feuV gSA 100 feuV esa vfHkfØ;k dk fdruk 

çfr'kr iwjk gks tk,xk\ 

(a) 25%  (b) 50%  

(c) 99.9%  (d) 75% 
 

35. fuEufyf[kr esa ls fdl laØe.k /kkrq vk;uksa dk 

pqacdh; {k.k lcls vf/kd gksrk gS\ 

(a) Cu2   (b) Ni2   

(c) Co2   (d) Fe2  
 

36. fuEufyf[kr esa ls dkSu lh çkFkfed vkSj f}rh;d 

la;kstdrk ;kSfxd ds lkeus lgh <ax ls vafdr 

ugha gS\ 

(a) Cr NH Cl p s3 6 3[ ( ) ] , 3, 6   

(b) K PtCl p s2 4[ ], 2, 4   

(c) Pt NH Cl p s3 2 2[ ( ) ], 2, 4   

(d) Cu NH SO p s3 4 4[ ( ) ] , 4, 4   

 
37. fuEufyf[kr esa ls dkSu lk mnklhu rVLFk fyxSaM 

ugha gS\ 

(a) H O2  (b) NH3  (c) ONO  (d) CO 

 

38. [Co(C2O4)3]
3
esa ladj.k gksrk gS& 

(a) 3 2sp d   (b) 3 3sp d  

(c) 3dsp   (d) 2 3d sp  

 

39. fuEufyf[kr esa ls dkSu lh çfrfØ;k ekdksZofudkso 

ds fu;e dk ikyu djrh gS\ 

(a) C2H4 + HBr (b) C3H6+Cl2 

(c) C3H6 + HBr (d) C3H6 + Br2 

 

40. ,d ,Ydkby gSykbM] RX, KCN ds lkFk 

çfrfØ;k djds çksisu ukbVªkby nsrk gSA RX gS 

(a) C3H7Br  (b) C4H9Br  

(c) C2H5Br  (d) C5H11Br 
 

41. ,Ydksgfyd KOH ds lkFk ,Ydkby gSykbM dk 

MhgkbMªksgSykstuhdj.k vklku gS 

(a) o o o3 2 1   (b) o o o3 2 1   

(c) o o o3 2 1   (d) o o o3 2 1   
 

42. vk.kfod lw= C3H8O okys ,d ;kSfxd X dks 

nwljs ;kSfxd Y esa v‚Dlh—r fd;k tk ldrk gS 

ftldk vk.kfod lw= C3H6O2 gSA ;kSfxd X gks 

ldrk gS- 

(a) CH3CH2OCH3  

(b) CH3CH2CHO 
(c) CH3CH2CH2OH 

(d) CH3CHOHCH3 
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43. The ether that undergoes electrophilic 

substitution reaction is. 

(a) CH3OC2H5 (b) C6H5OCH3 
(c) CH3OCH3 (d) C2H5OC2H5 

 

44. Correct order of boiling points among 

following is 

X

CH CH CH3 2 3 3
( )

( ) , 
Y

C H OC H2 5 2 5
( )

,  

Z

CH CH OH3 2 3
( )

( )  

(a) X > Y > Z (b) Y > X > Z  

(c) Z > X > Y (d) Z > Y > X  

 

45. Which of the following compounds does 

not react with NaHSO3? 
(a) HCHO  (b) C6H5COCH3 

(c) CH3COCH3 (d) CH3CHO 

 

46. Propanal on treatment with dilute sodium 

hydroxide gives. 
(a) CH CH CH CH CH CHO3 2 2 2 2  

(b) CH CH CH OH CH CH CHO3 2 2 2( )  

(c) CH CH CH OH CH CH CHO3 2 3( ) ( )  

(d) CH CH COOH3 2  
 

47. Which of the following aldehydes will 
show Cannizzaro reaction? 

(a) HCHO   

(b) C6H5CHO 

(c) NO2  C6H4  CHO  
(d) All of these  
 

48. Reduction of CH3CH2NC with hydrogen 
in presence of Ni or Pt as catalyst gives 

(a) CH3CH2NH2  

(b) CH3CH2NHCH3 

(c) CH3CH2NHCH2CH3 

(d) (CH3)3N 
 

49. Ni HNaCN Acetic

Anhydride
CH CH Cl X Y Z2/

3 2    . 

Z in the above reaction is 

(a) CH3CH2CH2NHCOCH3 

(b) CH3CH2CH2NH2 

(c) CH3CH2CH2CONHCH3 

(d) CH3CH2CH2CONHCOCH3 

 

50. The  amino acid which contains the 

aromatic side chain is  

(a) proline   (b) tyrosine 

(c) valine  (d) serine 

 

43. og bZFkj tks bysDVªksfQfyd çfrLFkkiu çfrfØ;k 

ls xqtjrk gSA 

(a) CH3OC2H5 (b) C6H5OCH3 

(c) CH3OCH3 (d) C2H5OC2H5 

 

44. fuEufyf[kr esa ls DoFkukad dk lgh Øe gS 

X

CH CH CH3 2 3 3
( )

( )
Y

C H OC H2 5 2 5
( )

 

Z

CH CH OH3 2 3
( )

( )  

(a) X > Y > Z (b) Y > X > Z  

(c) Z > X > Y (d) Z > Y > X  

 

45. fuEufyf[kr esa ls dkSu lk ;kSfxd NaHSO3 ds 

lkFk çfrfØ;k ugha djrk gS\ 

(a) HCHO  (b) C6H5COCH3 

(c) CH3COCH3 (d) CH3CHO 

 

46. ruq lksfM;e gkbMª‚DlkbM ls mipkj djus ij 

çksisuy nsrk gSA 

(a) CH CH CH CH CH CHO3 2 2 2 2  

(b) CH CH CH OH CH CH CHO3 2 2 2( )  

(c) CH CH CH OH CH CH CHO3 2 3( ) ( )  

(d) CH CH COOH3 2  
 

47. fuEufyf[kr esa ls dkSu lk ,fYMgkbM dSfutkjks 

çfrfØ;k fn[kk,xk\ 

(a) HCHO  

(b) C6H5CHO 

(c) NO2  C6H4  CHO 
(d) ;s lHkh 

 

48. mRçsjd ds :i esa Ni ;k Pt dh mifLFkfr esa 

gkbMªkstu ds lkFk CH3CH2NC dk vip;u 

(a) CH3CH2NH2  

(b) CH3CH2NHCH3 

(c) CH3CH2NHCH2CH3 

(d) (CH3)3N 

 

49. Ni HNaCN Acetic

Anhydride
CH CH Cl X Y Z2/

3 2        

mijksä çfrfØ;k esa Z gS 

(a) CH3CH2CH2NHCOCH3 

(b) CH3CH2CH2NH2 

(c) CH3CH2CH2CONHCH3 

(d) CH3CH2CH2CONHCOCH3 

 

50. og  vehuks ,flM gS ftlesa ,jksesfVd ik'kZ~o 

Jà[kyk gksrh gS 

(a) çksykbu  (b) Vk;jksflu 

(c) osfyu   (d) lsjhu 
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MATHEMATICS 

51. 
2 2


dx

x a
equals.......? 

(a) 1sin  
 

 

x
c

a
  

(b) 2 2
elog | |  x x a c  

(c) 2 2
elog | |  x x a c  

(d) 
2 2

2





x x a

c
 

52. 2sin cos x xdx is equal to .......? 

(a) cos 2x + c (b) sin 2x + c 

(c) cos2x + c (d) 2sin x c  

 

53. 
2

21

1 1 
  

 
xe dx

x x
 

(a) 
2

2


e
e   (b) 

2

2


e
e  

(c) 
2

2


e
e   (d) None of these 

 

54. 1 2tan[sec 1 x ]    

(a) 
1

x
  (b) x 

(c) 
2

1

x x
 (d) 

2

x

1 x
 

 

55. The principle value of 1 2
sin sin

3
   

  
  

is 

......? 

(a) 
2

3


   (b) 

2

3


 

(c) 
4

3


  (d) None of these 

56. If 

x |x|
,when x 0

f(x) ,x
2,when x 0





 

 then .......? 

(a) f(x) is continuous at x = 0 

(b) 0,
2

 
  

is discontinuous at x = 0 

(c) 
x 0
lim f(x) 2


  

(d) None of these 

 

 

Xkf.kr 

51. 
2 2


dx

x a
cjkcj.......? 

(a) 1sin  
 

 

x
c

a
  

(b) 2 2
elog | |  x x a c  

(c) 2 2
elog | |  x x a c  

(d) 
2 2

2





x x a

c
 

 

52. 2sin cos x xdx  ....... ds cjkcj gS ? 

(a) cos 2x + c (b) sin 2x + c 

(c) cos2x + c (d) 2sin x c  

 

53. 
2

21

1 1 
  

 
xe dx

x x
 

(a) 
2

2


e
e   (b) 

2

2


e
e  

(c) 
2

2


e
e   (d) buesa ls dksbZ ugha 

 

54. 1 2tan[sec 1 x ]    

(a) 
1

x
  (b) x 

(c) 
2

1

x x
 (d) 

2

x

1 x
 

55. 1 2
sin sin

3
   

  
  

 dk eq[; eku &&&&gS? 

(a) 
2

3


   (b) 

2

3


 

(c) 
4

3


  (d) buesa ls dksbZ ugha  

56. ;fn 

x |x|
, x 0

f(x) ,x
2, x 0





 

tc

tc

 rks .........? 

(a) f(x) x = 0 ij lrr gS 

(b) 0,
2

 
  

x = 0 ij vlrr gS 

(c) 
x 0
lim f(x) 2


  

(d) buesa ls dksbZ ugha 
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57. Which of the following statements is not 

correct 

(a)  
T T TAB A B   

(b)  
TTA A   

(c)  
T T TA B B A    

(d)  
T TkA kA (kisascalar)  

 

58. xd
log sin e .......?

dx

 
 

 
 

(a) x/2 x/21
e cot(e )

4
 (b) x/2 x/2e cot(e )  

(c) x x1
e cot(e )

4
 (d) x/2 x/21

e cot(e )
2

 

 

59. The general solution of the differential 

equation x ydy
e

dx


 is ........ . 

(a) yxe e C    (b) yxe e C    

(c) yxe e C   (d) yxe e C   
 

60. 1 1 x yx
tan tan

y x y
   

  
 

 

(a) 
2


  (b) 

3


  

(c) 
4


  (d) 

3

4

 
 

 

61. 1d cosx sinx
tan

dx cosx sinx
  
  

  

(a) 
2

1

2(1 x )
 (b) 2

1

1 x
 

(c) 1  (d) – 1 
 

62. The equation of the normal to the curve 

x
y sin

2


  at (1, 1) is   

(a) y 1          (b) x 1   

(c) y x          (d) 
2

y 1 (x 1)


  


 

 

63. The maximum value of sin x(1 cosx)  will 

be at  

(a) x
2


    (b) x

6


   

(c) x
3


    (d) x    

 

57. fuEufyf[kr esa ls dkSu lk dFku lgh ugha gS 

(a)  
T T TAB A B   

(b)  
TTA A   

(c)  
T T TA B B A    

(d)  
T TkA kA (kisascalar)  

 

58. xd
log sin e .......?

dx

 
 

 
 

(a) x/2 x/21
e cot(e )

4
 (b) x/2 x/2e cot(e )  

(c) x x1
e cot(e )

4
 (d) x/2 x/21

e cot(e )
2

 

 

59. vody lehdj.k
x ydy

e
dx


 dk O;kid Qy gS ------

- 

(a) yxe e C    (b) yxe e C    

(c) yxe e C   (d) yxe e C   

 

60. 1 1 x yx
tan tan

y x y
   

  
 

 

(a) 
2


  (b) 

3


  

(c) 
4


  (d) 

3

4

 
 

 

61. 1d cosx sinx
tan

dx cosx sinx
  
  

  

(a) 
2

1

2(1 x )
 (b) 2

1

1 x
 

(c) 1  (d) – 1 
 

62. oØ 
x

y sin
2


 ds fcUnq  (1, 1) ij vfHkyEc dk 

lehdj.k gS  

(a) y 1          (b) x 1   

(c) y x          (d) 
2

y 1 (x 1)


  


 

 

63. Qyu sin x(1 cosx) dk eku fdl fcUnq ij 

mfPp"B gksxk   

(a) x
2


   (b) x

6


  

(c) x
3


   (d) x    
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64. Let { R : 1}  A x x and : A Af be 

defined  as ( ) (2 ). f x x x  Then, 1( )f x is 

(a) 1 1 x  (b) 1 1 x   

(c) 1 x   (d) 1 1 x  

 

65. If 1 1sin cos ,
6

  
 x x then x =  

(a) 
1

2
  (b) 

3

2
  

(c) 
1

2
   (d) none of these 

66. The number of solutions of the equation 

1 1tan 2 tan 3
4

x x  
  is 

(a) 2  (b) 3  

(c) 1  (d) none of these 

 

67. The domain of 1 2cos ( 4)x  is 

(a) [3, 5]   

(b) [ 1,1]  

(c) [ 5, 3] 3, 5      

(d) 5, 3 5, 3           

 

68. If a matrix A is both symmetric and skew-
symmetric, then 

(a) A is a diagonal matrix 

(b) A is a zero matrix 

(c) A is a scalar matrix 
(d) A is a square matrix 

 

69. The maximum value of  

1 1 1

1 1 sin 1

1 cos 1 1

   

 

is ( is real) 

(a) 
1

2
  (b) 

3

2
  

(c) 2   (d) 
3

2
  

 

70. The area of a triangle with vertices 

( 3,0),(3,0) and (0, k) is 9 sq. units. The 

value of k will be 

(a) 9 (b) 3 (c) 9  (d) 6 

 
 

 

 

64. Ekku yhft, { R : 1}  A x x vkSj : A Af  

bls fQj ls :Ik esa ifjHkkf’kr fd;k x;k gS 

(a) 1 1 x  (b) 1 1 x   

(c) 1 x   (d) 1 1 x  

 
 

65. ;fn 
1 1sin cos ,

6
  

 x x rc x = 

(a) 
1

2
  (b) 

3

2
  

(c) 
1

2
   (d) buesa ls dksbZ ugha 

66. lehdj.k 
1 1tan 2 tan 3

4
x x  
  ds gyksa dh 

la[;k gS 

(a) 2  (b) 3  
(c) 1  (d) buesa ls dksbZ ugha 

 

67. 1 2cos ( 4)x  dk Mksesu gS 

(a) [3, 5]   

(b) [ 1,1]  

(c) [ 5, 3] 3, 5      

(d) 5, 3 5, 3           

 

68. ;fn ,d eSfVªDl A lefer vkSj frjNk&lefer 

nksuksa gS] rks  

(a) A ,d fod.kZ eSfVªDl gS 

(b) A ,d ‚kwU; eSfVªDl gS 

(c) A ,d vfn‛k eSfVªDl gS 

(d) A ,d oxZ eSfVªDl gS 

69. 

1 1 1

1 1 sin 1

1 cos 1 1

   

 

dk   vf/kdre 

eku ;g okLrfod gS 

(a) 
1

2
  (b) 

3

2
  

(c) 2   (d) 
3

2
  

 
70. ( 3,0),(3,0)  ‚kh’kksZ vkSj (0, k) okys f=Hkqt dk 

{ks=Qy 9 oxZ bdkbZ gSA k dk eku gksxk 

(a) 9 (b) 3 (c) 9  (d) 6 
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71. Let 

cos 1

( ) 2sin 2 ,

sin

x x

f x x x x

x x x

 then 
20

( )
lim
x

f x

x
is 

equal to 

(a) 0 (b) 1  (c) 2 (d) 3 

 

72. If 
1

1 ,
x

y
x

 
  
 

then 
dy

dx
  

(a) 
1 1 1

1 log 1
1

x

x x x

    
      

    
 

(b) 
1 1

1 log 1
x

x x

   
    

   
 

(c) 
1

log( 1)
1

x
x

x x
x x

   
    

   
 

(d) 
1 1 1

log 1
1

x

x
x x x

    
      

    
 

 

73. If sin ( ) log( ),x y x y   then 
dy

dx
  

(a) 2 (b) 2  (c) 1 (d) -1] 
 

74. If 1 1
sec ,

1

x
a

y
  

  
then 

dy

dx
is equal to 

(a) 
1

1

x

y




  (b) 

1

1

x

y




 

(c) 
1

1

y

x




  (d) 

1

1

y

x




 

 

75. If 2

1
( ) ,

4 2 1
f x

x x


 
then its maximum 

value  

(a) 
4

3
 (b) 

2

3
 (c) 1 (d) 

3

4
 

71. Ekku yhft, 

cos 1

( ) 2sin 2 ,

sin

x x

f x x x x

x x x

 rc 

20

( )
lim
x

f x

x
 cjkcj gS 

(a) 0 (b) 1  (c) 2 (d) 3 
 

72. ;fn 
1

1 ,
x

y
x

 
  
 

rc 
dy

dx
  

(a) 
1 1 1

1 log 1
1

x

x x x

    
      

    
 

(b) 
1 1

1 log 1
x

x x

   
    

   
 

(c) 
1

log( 1)
1

x
x

x x
x x

   
    

   
 

(d) 
1 1 1

log 1
1

x

x
x x x

    
      

    
 

 

73. ;fn sin ( ) log( ),x y x y   rc 
dy

dx
  

(a) 2 (b) 2  (c) 1 (d) -1] 

 

74. ;fn 
1 1

sec ,
1

x
a

y
  

  
rc 

dy

dx
 ds cjkcj gS 

(a) 
1

1

x

y




  (b) 

1

1

x

y




 

(c) 
1

1

y

x




  (d) 

1

1

y

x




 

 

75. ;fn 2

1
( ) ,

4 2 1
f x

x x


 
gS rks bldk vf/kdre 

eku gS 

(a) 
4

3
 (b) 

2

3
 (c) 1 (d) 

3

4
 

 

BIOLOGY 

 

thofoKku 

51. Embryo sac is to ovule as ______ is to an 

anther.  

(a) stamen   (b) filament  

(c) pollen grain  (d) androecium  
 

52. Choose the correct statement from the 
following  
(a) Cleistogamous flowers always exhibit 

autogamy.  
(b) Chasmogamous flowers always exhibit 

geitonogamy.  
(c) Cleistogamous flowers exhibit both 

autogamy and geitonogamy.  
(d) Chasmogamous flowers never exhibit 

autogamy.    
 
 
 
 
 
 

51. chtk.M esa Hkzq.kdks"k bl rjg ls gS fd tSls 

______ ijkxdks"k esa gSA 

¼a½ iqadslj   ¼ b½ fQykesaV 

¼c½ ijkxd.k  ¼d½ ,aMªksbfd;e 
 

52. fuEufyf[kr esa ls lgh dFku pqusa 

¼a½ fDyLVksxSel Qwy ges'kk v‚VksxSeh çnf'kZr 

djrs gSaA 

¼b½ pSLeksxSel Qwy ges'kk ftVksuksxSeh çnf'kZr 

djrs gSaA 

¼c½ fDyLVksxSel Qwy v‚VksxSeh vkSj thVksuksxSeh 

nksuksa çnf'kZr djrs gSaA 

¼d½ pSLeksxSel Qwy dHkh Hkh v‚VksxSeh dk çn'kZu 

ugha djrs gSaA 
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53. Seminal plasma, the fluid part of semen, is 

contributed by  

(i) seminal vesicle (ii) prostate  
(iii) urethra            (iv) bulbourethral gland 

(a) (i) and (ii) (b) (i), (ii) and (iv) 

(c) (ii), (iii) and (iv) (d) (i) and (iv)  
  

54. Which among the following has 23 

chromosomes?  

(a) Spermatogonia  (b) Zygote  

(c) Secondary oocyte  (d) Oogonia  
 

55. Which of the following hormones is not 

secreted by human placenta?  
(a) hcG   (b) Estrogens  

(c) Progesterone  (d) LH  
 

56. The method of directly injecting a sperm 

into ovum in  assisted reproductive 

technology is called  

(a) GIFT   (b) ZIFT 

(c) ICSI  (d) ET 
 

57. The correct surgical procedure as a 

contraceptive method is  
(a) ovariectomy  (b) hysterectomy  

(c) vasectomy  (d) castration.  
 

58. If a genetic disease is transferred from a 

phenotypically normal but carrier female 

to only some of the male progeny, the 

disease is  
(a) autosomal dominant  

(b) autosomal recessive  

(c) sex-linked dominant  

(d) sex-linked recessive 
 

59. Person having genotype IAIB would show 

the blood group as AB. This is because of  
(a) pleiotropy   

(b) co-dominance  

(c) segregation   

(d) incomplete dominance  
 

60. ZZ/ZW type of sex determination is seen 

in  
(a) platypus (b) snails  

(c) cockroach  (d) peacock.  
 

61. A cross between two tall plants resulted in 

offspring having few dwarf plants. What 

would be the genotypes of both the 
parents?  

(a) TT and Tt  (b) Tt and Tt  

(c) TT and TT  (d) Tt and tt  

 

 

53. lsfeuy IykTek] oh;Z dk rjy Hkkx] }kjk ;ksxnku 

fn;k tkrk gS 

¼i½ oh;Z iqfVdk ¼ii½ çksLVsV 

¼iii½ ew=ekxZ  ¼iv½ cYcks;wjsFkzy xzafFk 

¼a½ ¼i½ vkSj ¼ii½  ¼b½ ¼i½] ¼ii½ vkSj ¼iv½ 

¼c½ ¼ii½] ¼iii½ vkSj ¼iv½  ¼d½ ¼i½ vkSj ¼iv½ 
 

54. fuEufyf[kr esa ls fdlesa 23 xq.klw= gksrs gSa\ 

¼a½ LiesZVksxksfu;k  ¼b½ tkbxksV 

¼c½ f}rh;d vaMk.kq  ¼d½ mxksfu;k 

 
 

55. fuEufyf[kr esa ls dkSu lk gkeksZu ekuo uky }kjk 

lzkfor ugha gksrk gS\ 

(a)  hcG   ¼b½ ,LVªkstsu 

¼c½ çkstsLVsjksu  ¼d½ LH 
 

56. lgk;d çtuu rduhd esa 'kqØk.kq dks lh/ks fMac 

esa batsDV djus dh fof/k dgykrh gS 

(a) GIFT   (b) ZIFT 

(c) ICSI  (d) ET  

 
 

57. xHkZfujks/kd fof/k ds :i esa lgh 'kY; çfØ;k gS 

¼a½ vksojh,DVkseh  ¼b½ fgLVsjsDV‚eh 

¼c½ iq#"k ulcanh  ¼d½ cf/k;kdj.kA 

 
 

58. ;fn dksbZ vkuqoaf'kd jksx y{k.kkRed :i ls 

lkekU; ysfdu okgd eknk ls dsoy dqN uj 

larkuksa esa LFkkukarfjr gksrk gS] rks jksx gS 

¼a½ v‚Vkslksey MkfeusUV 

¼b½ v‚Vkslksey fjlsflo 

¼c½ lsDl&fyaDM MkfeusUV 

¼d½ lsDl&fyaDM fjlsflo 

 

59. thuksVkbi IAIB okys O;fä dk jä lewg AB. 

fn[kk;k tk,xkA bldk dkj.k ;g gS 

¼a½ fIy;ksVª‚ih 

¼b½ lg&çHkqRo 

¼c½ iF̀kDdj.k 

¼d½ v/kwjk çHkqRo 
 

60. ZZ/ZW çdkj dk fyax fu/kkZj.k ns[kk tkrk gS 

¼a½ IySfVil  ¼b½ ?kksa?ks 

¼c½ d‚djksp  ¼d½ eksj 

 

61. nks yEcs ikS/kksa ds chp ladj.k ds ifj.kkeLo:i 

larkuksa esa dqN ckSus ikS/ks FksA ekrk&firk nksuksa ds 

thuksVkbi D;k gksaxs\ 

¼a½ TT vkSj Tt  ¼b½ Tt vkSj Tt 

¼c½ TT vkSj TT  ¼d½ Tt vkSj tt 
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62. In a DNA strand the nucleotides are linked 

together by  

(a) glycosidic bonds   
(b) phosphodiester bonds  

(c) peptide bonds  

(d) hydrogen bonds.  
 

63. Which of the following statements is the 

most appropriate for sickle cell anaemia?  

(a) It cannot be treated with iron 

supplements  
(b) It is a molecular disease.  

(c) It confers resistance to acquiring 

malaria.  

(d) All of the above.  
 

64. Discontinuous synthesis of DNA occurs in 

one strand, because  

(a) DNA molecule being synthesized is 
very long  

(b) DNA dependent DNA polymerase 

catalyses polymerization only in one 

direction (5’ 3’)  
(c) It is more efficient process  

(d) DNA ligase has to have a role.  
 

65. If the base sequence of a codon in mRNA 

is 5’-AUG-3’, the sequence of tRNA pairing 

with it must be  

(a) 5’ –UAC -3’  (b) 5’ – CAU -3’  
(c) 5’-AUG-3’  (d) 5’ –GUA-3’,  
  

66. The theory of spontaneous generation 
stated that  

(a) life arose from living forms only  

(b) life can arise from both living and non-

living  
(c) life can arise from non-living things 

only  

(d) life arises spontaneously, neither from 

living nor from the non-living.  
 

67. Palaentological evidences for evolution 

refer to the  
(a) development of embryo  

(b) homologous organs  

(c) fossils  

(d) analogous organs  
  

68. Analogous organs arise due to  

(a) divergent evolution  
(b) artificial selection  

(c) genetic drift  

(d) convergent evolution 

 

62. Mh,u, LVªSaM esa U;wfDy;ksVkbM~l ,d lkFk tqM+s 

gksrs gSa 

¼a½ XykbdksflfMd ca/k 

¼b½ Q‚LQksMkbLVj ca/k 

¼c½ isIVkbM ca/k 

¼d½ gkbMªkstu ca/k 

 

63. fldy lsy ,uhfe;k ds fy, fuEufyf[kr esa ls 

dkSu lk dFku lcls mi;qä gS\ 

¼a½ bldk bykt vk;ju lIyhesaV ls ugha fd;k 

tk ldrk gS 

¼b½  ;g ,d vk.kfod jksx gSA 

¼c½  ;g eysfj;k çkIr djus ds fy, çfrjks/k 

çnku djrk gSA 

(d) mijksä lHkhA 
 

64. DNA dk vlarr la'ys"k.k ,d jTtq esa gksrk gS] 

D;ksafd 

¼a½ la'ysf"kr gksus okyk DNA v.kq cgqr yack 

gksrk gS 

¼b½ DNA ij fuHkZj DNA iksyhejst dsoy ,d 

fn'kk esa iksyhejkbts'ku dks mRçsfjr djrk gS 

(5’ 3’) 

¼c½ ;g vf/kd dq'ky çfØ;k gS 

¼d½ DNA fyxst dh Hkwfedk gksuh pkfg,A 
 

65. ;fn mRNA esa dksMkWu dk vk/kkj vuqØe                 

5’-AUG-3’, gS] rks blds lkFk tRNA ;qXeu dk 

Øe gksuk pkfg, 

 (a) 5’ –UAC -3’  (b) 5’ – CAU -3’  

 (c) 5’-AUG-3’  (d) 5’ –GUA-3’,  
 

66. Lor%LQwrZ ih<+h ds fl)kar esa dgk x;k gS 

¼a½  thou thfor :iksa ls gh mRiUu gqvk 

¼b½  thou ltho vkSj futhZo nksuksa ls mRiUu gks 

ldrk gS 

¼c½  thou dsoy futhZo oLrqvksa ls gh mRiUu gks 

ldrk gS 

¼d½ thou vuk;kl gh mRiUu gksrk gS] u rks 

ltho ls vkSj u gh futhZo lsA 

 
 

67. fodkl ds fy, thokf‚ed lk{; dk mYys[k gS 

¼a½ Hkzq.k dk fodkl 

¼b½ ltkrh; vax 

¼c½ thok'e 

¼d½ vuq:i vaxA 

  

68. vuq:i vax mRiUu gksrs gSa 

¼a½ vilkjh fodkl 

¼b½ —f=e p;u 

¼b½ vkuqoaf'kd cgko 

¼d½ vfHklj.k fodkl 
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69. The most accepted line of descent in 

human evolution is  

(a) Australolpithecus  Ramapithecus 
Homo sapiens Homo habilis  

(b) Homo erectus  Homo habilis  Homo 
sapiens  

(c) Ramapithecus  Homo habilis  Homo 

erectus Homo sapiens  
(d) Australopithecus  Ramapithecus 

Homo erectus Homo habilis Homo  
sapiens.  

 

70. The organisms which cause diseases in 

plants and animals are called  

(a) pathogens  (b) vectors  

(c) insects   (d) worms  
 

71. Diseases are broadly grouped into 

infectious and non-infectious diseases. In 

the list given below, identify the infectious 
diseases.  

(i) Cancer   (ii) Influenza  

(iii) Allergy  (iv) Small pox  

(a) (i) and (ii) (b) (ii) and (iii) 
(c) (iii) and (iv) (d) (ii) and (iv)  
 

72. The sporozoites that cause infection, when 
a female Anopheles mosquito bites a 

person, are formed in  

(a) liver of the person  

(b) RBCs of mosquito  
(c) salivary glands of mosquito  

(d) intestine of mosquito  
 

73. ‘Smack’ is a drug obtained from the  

(a) latex of Papaver somniferum  

(b) leaves of Cannabis sativa  

(c) flowers of Datura  
(d) fruits of Erythroxylum coca.  
 

74. Fungicides and antibiotics are chemicals 

that  

(a)  enhance yield and disease resistance  

(b) kill pathogenic fungi and bacteria, 
respectively  

(c)  kill all pathogenic microbes  

(d) kill pathogenic bacteria and fungi 

respectively 
  

75. The scientific process by which crop plants 

are enriched with certain desirable 
nutrients is called  

(a) crop protection       (b) breeding  

(c) bio-fortification      (d) bio-remediation 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

69. ekuo fodkl esa oa'k dh lcls Loh—r js[kk gS 

¼a½ v‚LVªsyksfiFkSdl  jkekfiFksdl   gkseks  

lsfi;Ul gkseks gSfcfyl 

¼b½ gkseks bjsDVl   gkseks gSfcfyl   gkseks 

lsfi;Ul 

¼c½ jkekfiFksdl  gkseks gSfcfyl  gkseks bjsDVl 

gkseks lsfi;al 

¼d½ v‚LVªsyksfiFkSdl   jkekfiFksdl   gkseks 

bjsDVl gkseks gSfcfylgkseks lsfi;UlA  

 

 
 

70. os tho tks ikS/kksa ,oa tUrqvksa esa jksx mRiUu djrs 

gSa] dgykrs gSa 

¼a½ jksxk.kq   ¼b½ oSDVj 

¼c½ dhV&irax ¼d½ dhM+s 
 

71. jksxksa dks lkekU;r;k laØked vkSj xSj&laØked 

jksxksa esa oxhZ—r fd;k tkrk gSA uhps nh xbZ lwph 

esa laØked jksxksa dh igpku djsaA 

(i) dSalj   (ii) bU¶yq,atk 

(iii) ,ythZ   (iv) pspd 

¼a½ ¼i½ vkSj ¼ii½  ¼b½ ¼ii½ vkSj ¼iii½ 

¼c½ ¼iii½ vkSj ¼iv½  ¼d½ ¼ii½ vkSj ¼iv½ 

 
 

72. tc eknk ,ukfQyht ePNj fdlh O;fä dks 

dkVrh gS] rks laØe.k QSykus okys LiksjkstksbV~l 

curs gSaA 

¼a½ O;fä dk ftxj 

¼b½ ePNj dh vkjchlh 

¼c½ ePNj dh ykj xzafFk;ka 

¼d½ ePNj dh vkar 
 

73. ‘Smack’ uked eknd æO; çkIr gksrk gS 

¼a½ ikikosj lksfEuQsje dk ysVsDl 

¼b½ dSufcl lSfVok dh ifÙk;ka 

¼c½ /krwjk ds Qwy 

¼d½ ,fjFkzktkbye dksdk ds QyA 
 

74. doduk'kh vkSj ,aVhck;ksfVd jlk;u gSa 

¼a½ mit vkSj jksx çfrjks/kd {kerk c<+k,¡ 

¼b½ Øe'k% jksxtud dod vkSj cSDVhfj;k dks ekjsa 

¼c½ lHkh jksxtud jksxk.kqvksa dks ekjsa 

¼d½ Øe'k% jksxtud cSDVhfj;k vkSj dod dks ekjsa 

 

 
 

75. og oSKkfud çfØ;k ftlds }kjk Qly ds ikS/kksa 

dks dqN okaNuh; iks"kd rRoksa ls lè) fd;k tkrk 

gS] dgykrh gS 

¼a½ Qly lqj{kk  ¼b½ çtuu 

¼c½ ck;ks&QksfVZfQds'ku   ¼d½ ck;ks&jsesfM,‛ku 
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76. Match the following list of bacteria and 

their commercially important products.  

 Bacterium   Product  

(i) Aspergilus 
niger  

(A) Lactic acid  

(ii) Acetobacter 
aceti  

(B) Butyric acid  

(iii) Clostridium 
butylicum  

(C) Acetic acid  

(iv) Lactobacillus  (D)  Citric acid  

Choose the correct match.  

(a) i-(B), ii-(C), iii-(D), iv-(A) 

(b) i-(B), ii-(D), iii-(C), iv-(A) 
(c) i-(D), ii-(C), iii-(B), iv-(A) 

(d) i-(D), ii-(A), iii-(C), iv-(B) 

 

77. BOD of wastewater is estimated by 

measuring the amount of  
(a) total organic matter  

(b) biodegradable organic matter  

(c) oxygen evolution  

(d) oxygen consumption. 
 

78. ‘Restriction’ in restriction enzyme refers to  

(a) cleaving of phosphodiester bond in 

DNA by the enzyme   

(b)  cutting of DNA at specific position 
only  

(c) prevention of the multiplication of 

bacteriophage in bacteria  

(d)  all of the above  

 
79. In agarose gel electrophoresis, DNA 

molecules are separated on the basis of 

their  

(a) charge only  (b) size only 
(c) charge to size ratio (d) all of the above  

 

80. GEAC stands for  

(a) Genome Engineering Action 

Committee  
(b) Ground Environment Action 

Committee  

(c) Genetic Engineering Approval 

Committee  
(d) Genetic and Environment Approval 

committee.  

 

76. cSDVhfj;k vkSj muds O;kolkf;d :i ls egRoiw.kZ 

mRiknksa dh fuEufyf[kr lwph dk feyku djsaA 

 thok.kq  mRikn   

(i) ,Lijftyl  

ukbxj  

(A) ySfDVd vEy  

(ii) ,flVkscSDVj 

,flVkbZ  

(B) O;wVkW;fjd vEy  

(iii) DykWfLVªfM;e  

C;wVkWbZfyde  
(C) ,flfVd vEy 

(iv) ySDVkscSflyl   (D)  flfVªd vEy 

lgh feyku pqusa- 

(a) i-(B), ii-(C), iii-(D), iv-(A) 

(b) i-(B), ii-(D), iii-(C), iv-(A) 

(c) i-(D), ii-(C), iii-(B), iv-(A) 

(d) i-(D), ii-(A), iii-(C), iv-(B) 

 

77. vif'k"V ty dh BOD dh ek=k ekidj vuqeku 

yxk;k tkrk gS 

¼a½ dqy dkcZfud inkFkZ 

¼b½ ck;ksfMxzsMscy dkcZfud inkFkZ 

¼c½ v‚Dlhtu fodkl 

¼d½ v‚Dlhtu dh [kirA 

 

78. çfrca/k ,atkbe esa çfrca/k dk rkRi;Z gS 

¼a½ ,atkbe }kjk Mh,u, esa Q‚LQksMkbLVj ca/ku 

dks rksM+uk 

¼b½ Mh,u, dks dsoy fof'k"V LFkku ij dkVuk 

¼c½ cSDVhfj;k esa cSDVhfj;ksQst ds xq.ku dks jksduk 

(d) mijksä lHkh 

 

79. ,xjkst tsy oS|qrd.klapyu esa DNA v.kqvksa dks 

muds vk/kkj ij vyx fd;k tkrk gS 

¼a½ dsoy pktZ     ¼b½ dsoy vkdkj 

¼c½ pktZ Vw lkbt vuqikr   ¼d½ mijksä lHkh 

 
 

80. GEAC dk eryc gS 

¼a½ thukse bathfu;fjax ,D'ku desVh 

¼b½ xzkmaM i;kZoj.k ,D'ku desVh 

¼c½ tsusfVd bathfu;fjax vuqeksnu lfefr 

¼d½ vkuqoaf'kd vkSj i;kZoj.k vuqeksnu lfefrA 

 


